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5. (a)

(b)

6. ()

4
'UNIT - 11
A coin is tossed 900 tifnes and heads
appeared 490 times. Can you say that the

coin is unl_)iased? _ ) p (7%)

An experiment was conducted on nine
rats. The experiment showed that due to
smoking, the pulse rate is increased in
the following order.

sy ) B 4,3, L

Can you maintain that smoking leads to
" .. an increase in. the pulse rate? (7%%2)

Two 'sets of 100 studcnts each were
taught to read by two dlfferent methods.
After the mst_ructlor.ls.over, a reading test
given to them reveal :

x| = 734, x5 = 70'3.

Sl —8andsz—10

Test the hypothesis. that pu;= 32 (7'%)

(b) ‘A dne lS thrown 132 glmes w:th the
followmg results :

No.
(Turnedup [ 1.7 2 | 3 - ;4"' 5 6

Frequency

16-1 20 { 25 14 {29 28
, b Test thehhyp;thesls that the die is
S gn-batsee‘i?t w2 v (7%)

UNIT I
7.. Three different miachines are-used: for a
‘production. On the  basis of the -outputs, set

up one-way ANOVA tilblq and test whether
the machines are equally effective :

Machine -1 | 10 | 15| 11 | 10

Machine -1l | |9 |,.1f 5| 6

(AR [

Machine - III 20 0f. 1610 | 14

(7%)
.Turn Over
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(¢) Given a 10 hour wear-in period,
compute the reliability for 50 hour

mission.

(d) What is the design life for a
reliability of 0-95, given a 10 hour

wear-in period? (15)

10. Compute the reliability of the system as

shown in figure -1. (15)

....-wﬂ :

P B 4_._,
o i

Figure -1
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2. A theodolite has a tacheometric mujtiplying

constant of 100 and and an additive constant
of zero. The centre reading on a vertical staff
- held at point-B has 2:292 m' when sighited
from A. If the vertlcal angle was + 25° and
the horizontal disfance AB 190-326 m.

Calculate the other staff readings and show
that the two intercept invervals are not equal.
Using these values, calculate the level of B
if A is 37-950 m and the height of instrument
Cis 1-35.m. |

UNIT - I ¢

What are the common difficulties in setting
out sxmple curves? Describe bnefly the
method employed in ovcrcommg them

© (OR)

. A compon'ndj curve is to connect two straights
‘having a deflection angle of 90°. As

"determined from the plan, the lengths .o'f the

two tangents are 350 m and 400 m
respectively. Calcualte the lengths of the two
arcs if the radius of the first curve is 300 m.

.
uNIT - Tr

of tnaﬁgulatmn étauous‘? (10)
o} P i v it

”(b) Explam how you would extend 8 base

line. ‘ - (5)

(OR)

. A steel tapé 20 m long standardised at 55°F

with a pull of 100N was used for measuring
a base 'fiiié.__F_in(_i_"ihév'cpnpqctﬂio)l'a_gfié.rh tape
lehgth, lf the' temperature at the time of
méasurement was 80°F and the pull exerted

i

160 N, e
. Mass of licul‘)ic‘ cm of sfeel;= 7-86 g
Mass of tape = 0-8 kg.

E = 0-21 x 106 N/mm?.
Co-efficient of expansnon

of tape per 1°F = 6 2 x 1076,
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